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1) To find the volume, multiply all the edges together.

Volume = (z4+1)(x+1)(x+1)

2) To write this expression using exrponential notation, clearly
show the exponent of 1 on each factor. Copy the base, and

add the exponents to get the final result.
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3) In this context, the 3 in the exponent indictes we're in

3 dimensional space.

J) To expand this expression means to perform the multiplications.
You can do the multiplications two at a time.

Volume=(x+1)(x+1)(x+1)
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2:52(:1:+1)+2:13(:1:—|—1)—|—1(:1:—|—1) distribute x+1 over the terms of 2 4 20+1
:$2'$+CC2'1—I-Q’.I)'CE—i—QCE'l—I—l".IZ—I—l'l distribute again
::ng—l—:ng—l—Qccg +2x+1x+1 do the multiplications

::)33+311:2+33:+1 combine like terms



